Throughput: vhost-I12sw-3n-skx-x710-64b-4t2c-base_and_features-vm-pdr
9.00

8.00

7.00 = .

36.00 I
[«X °
)
5
9_5.00
£
=)
s
o
< 4.00
=
]
v}
&
S 3.00
2.00
1.00
0.00
1 2 3 4 5 6
Test Cases [Index]
O 1. (10 runs) dotlg-I2bdbasemaclrn-eth-2vhostvr1024-1vm
[ 2. (10 runs) eth-I2bdbasemaclrn-eth-4vhostvr1024-2vm
O 3. (10 runs) eth-I2bdbasemaclrn-eth-2vhostvr1024-1vm
O 4. (10 runs) dotlg-l2xcbase-eth-2vhostvr1024-1vm
[ 5. (10 runs) eth-I2xcbase-eth-2vhostvr1024-1vm
O 6. (10 runs) eth-12xcbase-eth-4vhostvr1024-2vm



